EM306E ATA RANKING (2BE#T)

[ RFS5>40-4 IRBTIIZ | 20194F02H26 A7
s K2 555 ast =EN | BEF | BUF WE BxZ [ 20185 | 2FEK | BEF | BHZF WE BEF | 20174
point | 18.04 | 18.05 | 18.09 | 18.11 | 18.11 | Point | 17.04 | 17.05 | 17.09 | 17.11 | 17.11 | Point
HESTESG EAO—> 131 74 57 131 93 45 32 170
2|ME B EHO-> 46 46 46 25 2 27
HEER 59 A-iL 3 3
4|ipR AE 59° A-)L 0 0 0 93 93
4|=H 1B SO AL 0 0 46 46
4|IER BYF =OUVTC 0 0 15 15
FH304E ATA RANKING (2H#2#T)
[ RFS5250#-59WMBFSIILR | 201940273 26E%H
s K2 555 ast =M | BEF | BUE WE BxZ [ 20185 | 2FEM | BEF | BHZ E BEF | 20174
point | 18.04 | 18.05 | 18.09 | 18.11 | 18.11 | Point | 17.04 | 17.05 | 17.09 | 17.11 | 17.11 | Point
T ST AL 254 74 73 42 65 254 35 35
2|EE Bt F—LURT 240 70 74 51 42 240 70 74 24 29 3 200
3|WE F3 J 142 50 59 2 31 142 52 2 3 57
4|FR T2 SvF> 89 84 3 2 0 89 5 24 2 31 62
5|EN 5% BRI 12 35 35 0 0 35 2 2 92 96
BEEE ERIH 133 35 35 35 5 4 9
5|78 &X =OUVTC 35 35 35 0
8| ®E FTFLR 25 5 20 25 1 1
o\t EiF =oUvTC 24 22 2 24 0
10|MIE B— FLYOR 22 22 22 15 15
11aLt =4 ERIF 12T 21 1 20 21 0
12|KE miz =oUvTC 20 20 20
13| AN FHki 9 5 4 9 22 4 2 28
13|18 EE Y7 — 9 5 4 9 22 4 26
1536tk @ vILE> 7 1 0 3 0 3 7 1 52 3 2 3 61
150 &3h SvEF> 7 4 3 7 3 20 3 26
15|58 ®X FLYOR 7 5 2 7 1 1
18| AR {HeE EROU—> 5 5 5 22 22
19 LT S 4 4 4 0
EET IS SoUvTC 2 2 2
21|E=R & br7— 1 1 1 5 5}
21|58 BE Y27 - 1 1 1 0 0
21| = SEFNF1RIy 1 1 1 0
24|HFK F—LURT 0 0 22 35 45 102
24| &R BRI LY > 0 0 55 2 57
24| 8K 5l F—LURT 0 0 29 29
24| KM 1 SvF 0 0 0 5 5
24| M8 3hE S 0 0 5 5
24|iE Tk 2A—hE- 0 0 5 5
24|HE FE— ERO-—> 0 0 0 2 2
24|tEH f— ERO-—> 0 0 1 1
24|F sl RRIHRF 0 0 1 1
EH304E ATA RANKING (2HE#T)
[ RF526 0RALBFIILR ) 201960227 HEH
e K 555 ast 20 | BEF | B mE BEZF | 2018%F | 2RH | BREF | RUF WE Bz | 20174
Point | 18.04 | 18.05 | 18.09 | 18.11 | 18.11 | Point | 17.04 | 17.05 | 17.09 | 17.11 | 17.11 | Point
1R &t F—LURT 271 55 106 29 81 271 0
2|HE A F—LURT 257 22 133 45 57 257 5 84 51 92 232
3|#ll =7 SvF> 184 5 65 31 2 81 184 50 133 45 46 3 277
4|88 Bz ERO-—> 51 22 29 51 40 20 60
5|&L B Y7 — 42 42 42
6|FB #— SvF> 40 40 40 5 5
7|BE RX FIO—> 26 1 25 26 1 2 3
8|RE % SvF> 9 1 3 2 3 9 22 4 3 29 3 61
9| 3h 2A—hE— 5 5 5 27 20 47
o\t iEE SRH— 5 5 5 32 32
9|Bm = 21— KE- 5 5 5 5 2 7
12|l &H28) ot 2 2 2 5 5}
12|78 —& ot 2 2 2 0
14[1h% BK SKRIF— 1 1 1 1 32 33
145 fE— 2A—hE- 1 1 1 1 2 3
16|E#E EA 2A—hE- 0 0 0 70 29 99
16 I\& EE RRO—> 0 0 5 59 3 2 3 72
1615 RSB BAO-> 0 0 15 2 17
16| A4 f Y 57— 0 0 15 2 17
16 & EFS RA—hE— 0 0 il 1
16 BRIX %5 RA—hE— 0 0 1 1




